Fl;)\r 4‘>€[l,.b°) debiar-

= Ma Y )l ¢
b9 .
_C_L:‘/_‘i m Vet = Bl (52> \&)h\

/@ |v|| = 0 if, and only if, v =0 in V; e
q> |Av|| = Al ||v]| for all A € R and all v in V;
VO ||u+v| < ||ul|+|lv|| for allu and v in V (the triangle inequality).

QOM—C,MA\AUH 5m\1‘5sﬁcg KRans ?qw()_m»\)\«es.-_

‘/—"
L ——
? 2 (4
) =
4 e
\/m ‘{1 v-o HAJA_A l\\l. \ - ‘ lhl?'. [~ % | 1L -~
U v-v - Vel \ PViAton ¥ T | 0O\ - v

\ RG220 Rum pdh =0

%

@ L], =\ 1AV (Anl e o 2l

BRI WBTE Y o () = A,




Nead 4 hmo Armugts wegaabiby . (1N £ ] & vl

Congidan l\"‘f"ﬂ)fL Tndredmt o ?NAW

N I

N Auen ) e i D<o Huw Jorvll <ol +)vi|

LY

_ “ n
(e ¢

,-/—’\/\__\’__\__

|
VI, = | W (v [Uaff

VI = %l e o s (Ul

= \j!z_\_ V.,__L+--- + \/,,z T VeV ,

Thus =

< N Aue \\7{ = (Aun{)-(%u-l—y)

= Alu-u FALN +AVsU + Ve V
———

= ’>x2|.|.uu'2+ X TRAVARE 3 (1 l\:‘,‘}
| D




p)= aX rbX+e o=l

b= vV

ﬂ \ \ J /M’ W=

/ \ / ¢= W4,

[ \ /

\ /
\ S
- 3 3
T Tmed de Maku m—YM
KOAVLHO o\»m G0

\\ Do z065 ..,

V Sole PN)=D fo chedk

I
A _ b TN b*-Hac

A= T

W

ye-vo

H— - Qo >0  Hom Ma&\—\«w real

Posts (5t wadiur prdurg

~J t 9
Twwgst " _foe <0 50 s doeswl happn

(Luv)™ < A4 ull s

COJAAWl\) uwk\if'{ﬂ et




?\uj Hu g }mecguvh\t) Pode gt A=

2 D

v

\1 01t .t
I ueN

7N

-

0 . = ( uw\\)-( UV

~

U + . WeN + Vo +Veo V

(

\_/w-——\.—d

(ull;, + guwv + (Wl\i‘

]

LR TRVAR! (Wl\fl
x \ A

N
=

=

I, VAL

oW | fadhoy

‘ \
a—
—
£
-
=

<

—

—

(\\

Iouw s <

oV N

P m alm-tks AA.J) ?f-\
? — "\I:YF; oM ? =2
12)

Trawate  Tnguadily 1o Koo @iy &«:Mmﬁr.




X VU s P& (1,4)
i? %%Ly\
Yo~

) 1yl =)

Colod. S'-SL "j‘,
Y ¢ P | fﬂ

/ : |"
~/ d . o
/ - (
7 B
day= ¥ —=(F-0)
D—‘

?C
Lla> e
LYY 0

x:%&+0“%b




Do +(A-4)}
T L(dat(-HY) 7 € o

/_\/\/\/\/

)

. b_o8 a g~ gl . —a\
= e b-a_ b-o, d

2 (h-o) + (éb-eq\(%‘” (1-8)b-a)
IR — -

14

b~a

S — R

— <

e (bva — Do —(1-0)b)se? (Bar (18) b-a)

NN
N~

-

bh-a

_ € o t -ya + (1°

i
|




G=1¢ ~ € N
he poP . gin®
p~ € =7
lQP !Q‘l §Qa93.\.g'\0%’
ab = e?7 0% - ef ‘3;
o' Y
Al + (-0)BbT Lo Be 3 (1)
< (2
L X
Y RN N S
~ P q:
N,

/ Theorem 2.5 (Holder’s inequality) Let p,q > 1, (1/p) + (1/q) =1.
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Theorem 2.6 (Minkowski’s inequality) Let 1 < p < oo and u,v €
R™. Then,
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